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1- 1 - Boiling point of water is:
0°C (D) 100°C (C)
2 - The value of gravitational field strength of earth is:
100 N (D) 10N (C)
3 - Which one of the following is the smallest quantity?
5000 ng (D) 100 mg (C)
4 - In solids heat is transferred by:
absorption %11 (D) convection A (C)
5 - The energy stored in coal is:
kinetic energy (7. ..@-JK (B)
chemical energy (3.1 J}f (D)

6 - Metals are good conductors of heat due to:

neutrons 31’ (D) ions  #7 (C)
7 - The states of equilibrium are:
5(D) 4(C)

& - The value of speed of light 'c" is:
3.3x108 ms™! (D) 3x108ms™ (C)

9 - One Newton (1N) is equal to:
1 Kgm?s™" (D) 1 Kgms™2 (C)

10 - The weight of a bady is 147N then its mass is:

14.7 Kg (D) 147 Kg (C)
11 - Density of water is:
100 Kgm? (D) 1000 Kgm? (C)
12 - 36 Kmh™'is equal to:
30ms™' (D) 25 ms™! (C)
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heat energy (;;]-.’-If;j (A)
nuclear energy d;ak‘/g‘ (C)
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protons ¢, (B) free electrons 3126 1,7 (A)
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3x108ms™2 (B) 3x1078 ms™1 (A)

-a;_.cf/.nf (IN) 7% L1 -9
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1.47 Kg (B) zero (A)
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Note: Section | is compulsory. Attempt any Two (2) gestions from Section |I.
Section | (Ji2

2 - Write short answers to any FIVE (5) questions: (2x5= 10) -é//ul.l:’ﬁ’.:‘:uﬂlr (5) él. ;Jf 2

i - What is stop watch write the least count of L ey Bt ‘_)f/ﬁx, d,; Lf(,ln...«l.— - 3
mechanical stop watch. e b &

it - How to use a measuring cylinder? feu bl LUl d_",j;ufb - i
1i - A chocolate wrapper is 6.7 cm long and 5.7 cm wide, Ll 6 ez ¢ 7.5 P'('_"-G,;-J g,:rk - ii

calculate its area upto reasonable number of -e”,—{r:""'df s S § s i
significant figures,

v - Represent a force of 80 N acting towards North of East. Sudd BONY:, g‘_/‘_)".T,-t? SO/UE -iv

_.’-‘_’._f A6 e SV

v - Differentiate between the circular motion and “ZE Uk O Sl j,—)'f S

rotatory motion.

vi - When a gun is fired it recoils why? e W gs /é‘ 2T de dl!v Juie Lz -vi
vii - Write four methods of reducing friction. 24 B Lo SELSS vii

viii - How Banking of Road makes safe to drive vehicle? -3 dt. B;"’JILU@ EK LA ST LS - viii
3 - Write short answers to any FIVE (5) questions:  (2x5= 10) ,ifj._,ui/"ﬁ._.ulr (5) éL;_Jf 3
| i - Differentiate between like and unlike parallel forces. _éul, u/utﬂ,"ﬂ; Ll Y -

ii - What is meant by rigid body? e ,r,»ly’ < ks -ii
ii1 - Give two uses of artificial satellites. ' B Uk el L SRS -
iv - Stéle law of gravitation and write its mathematical formula, -E;'."”Jnls g,_il);,i 2_‘5._5:/;"&'@}5‘[. cf":-"&/ -iv

v - What is meant by Global Positioning System? S ok S e Ve By E -y

What is its use?

vi - Define potential energy and write its mathematical formula. -l Qo i 25 3PS G HY i

vii - Differentiate between solar cell and solar panels. ok ik B Sk -vii

viii - Calculate power of a machine which works 4 J in 2 seconds. “/’:—ff’w”& S s Jfr(t):?“uf 2202 L -vidi
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4 Write short answers to any FIVE (5) questions: (2x5=10)

“ZE Falz L iy (5) &;Jf 4

1 - State Pascal Law.
1 - What is the density of an object? Write its formula.
111 - State principle of floatation.
v - Define temperature and heat.
v - What is the use of thermometer?

vi - On what factors radiation depends?

vii - Define gliding

viii - What is meant by land breeze and sea breeze?
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Section |l (9 2

5 - (a) Derive the second equation of motion with the (4) el Um §e7e s J._jfff‘c 4w () -5
help of speed-time graph. Z
(b) How much centripetal force is needed to make a (6) ke Ri,50 cm[f-’ﬁ J r;);f 05 (L)
body of mass 0.5kg to move in a circle of radius S B L L ik Ard 3ms™
50cm with the speed 3ms™! t-'d‘ﬂ Y
6 - (a) Explain two conditions of Equilibrium (4) *-’-'._-.au, Jaﬂ/‘.ﬂ, ((/;s,f.l () -6
(b) A500g stone is thrown up with a velocity of 15ms™' (5) Lg";_.; = Fhd15ms™y 4 ol P r;)‘soo ()
Find its: -c‘_’.'r}”tﬁ < Ukt b ‘
1) P.E atits maximum height A £ o o0 kG
11) K-E when it hits the ground S ,@J’e’:}, ) D16
7 - (a) Describe Linear thermal expansion in solids and (4) w25 entsy (i u:ffd:"d' el oF (L) -7
Prove that M oo m f.:_.':_.l‘
LoAT LoAT
(b) Awooden cube of sides 10 cm each has been dipped (5) -« 10 cht.J g é’} L it w;v’_g ()

completely in water. Calculate the upthrust of water

acting on it.
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Marks: 12 Code: 5478 12: 04

Db Lz e 2 Uil ZLH;V Ly g ¥z -Lg.»ﬁ;.;D »C B (A ._,gfg,;FA; Cdrp 1oy
K 9 4t 7 i a..«u"d’d..// Soy ¢ z‘../f :‘/u.vb whie i Z.;,"c..uj_(z /Gl.fa/'b,.'ﬂa‘?

1= 1- Rate of change of momentum is equal to: - dyr aed L/ Jgf_iuf f""? e G |
distance _Loj (D) work s (C)  torque _fp (B) force 1j (A)
2 - The orbital speed of a low orbit satellite is: - Jx i Jd'..;g_}:/ftf e L .:uf&:,' -2
8000ms™" (D) . 800ms™ (C) gms”™" zero e (A)
3 - The Kinetic energy of a body of mass 2kg is 25/ £ 2BI5H L2 L (S¥2 -3
Its speed is. _Jn irdu
50ms™" (D) 25ms™ (C) 12.5ms™" (B) 5ms” (A)

- In gases. heat is mainly transferred by: ~ o § A7 @I Sl b - g
conduction (/"";f (A)
molecular collision 3¢ convection 5 (C)
5- The S.1 unit of force is: < <y SI¥Ud -5
newton % (D) ascal uﬂ (C) watt i, (B) kilogram r-i/’;f (A)
G- The 8. unit of density is: e ST K -6
h kgm™ (C) kgm™ (B) kam™' (A)
7- Aninterval of 200 us is equiv : - L 56,4200 -7
2x107%s(C) 0.025s (B) 0.25 (A)
8 - The S.1 unit of Thermal ivity i . it Y SIKEA )7 -8
Wm™'C (C) wm™'k™ (B) m™k ()
9 - The number of forées that can be added by head < n” bV Ui S oie JosKik -
to tail rule is: - 7
any nlimber 59§ §/ (D) 4(C) 3(B) 2(A)
10- The ST u/mt of energy is: o e SIKGH-10
/ Pascal J’lg, (D) Watt .1, (C) Joule )z (B) Newton 72 (A)
11 - Abaliis thrown vertically upward its velocity at the (B i e Vs 3PS el - 11
highest point is: -Jﬂ Ul Uﬁif,
10ms™ (D) 10ms™ (C) Zero s (B) -10ms™" (A)
12 - Co-efficient of volume expension of aluminium is: ..ALfi ¢ /e r;!r,- K(.i‘;l': -12°
7.2x107k”" (D) 6x107%"(C)  2.4x 10‘51("1 (B) 42x107%" (a)
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Time: 1:45 Hours (Group: i) (h',:flﬂ)) &1:45; =5
Marks: 48 Subjective (@i 48 :

- Ss ez L =i (2) U/:. ufr».'ﬁ - Jiloo 1oy
Note: Section | is compulsory. Attempt any Two (2) gestions from Section II.
Section I J3.2>
2 - Write short answers to any FIVE (5) questions: (2x5=10) _54}.:-.41:2/"?4911& (5) @ r.-_.éf -2
1 - What is vernier callipers? Write the Least Count (L.C) (Lo 3K Y. y’,g f;r}, -1
of vernier callipers.

1 - Differentiate between Base quantities and Derived quantities, ,g.‘f fjb 9/ W £ Uil i 536 ol Uledle -ii

i - What is meant by significant figures of a measurement? ety lf.:. rwr A ot Jﬁ_l_q, uj - i
iv - Define Linear motion and Circular motion. -E IS S ES -iv
v - Differentiate between Scalars and Vectors? Give an J.J:f,;- sl .’_5_-’-' (‘jl, dAl )}5 »l .?/5': =¥

example of each. & Je L
vi - Describe the Law of Inertia. _é Yk ulF LN -vi
vii - Write two differences between mass and weight. L2552 Jen L o Jo - vid
viii - Describe two (2) ways to reduce friction. e EL2)nL ;fff.f,() - viii
3 - Write short answers to any FIVE (5) questions: (2x5=10) _54/’.:,;&/‘?&@1]1:' (5) @'. ;.Jf -3
1 - Define'resultant of forces. _a_‘:‘.’..‘gffgfﬁ}df.*ﬁ:;; -i
ii - What is meant by axis of rotation? e S STA i
i - What is meant by Global Positioning System? e spVe H”_ﬁﬁ.’){ JE -iii
iv - What is the value of 'g' on the earth and the moon? ‘.‘._T__ J,« y’;‘f J ‘9’4 Lo sl i -iv
v - Wﬁy communication satellites appear stationary ot z_T,ﬁu[g’/L/a. L u"!P‘u“—‘g::( -V
wit_h respect to the Earth. ‘
vi - What is meant by Mechanical energy, also give one example. 2 e Se sy Ve G J(“JC -vi
vii - Define elastic potential energy. _é ..,._':gﬁd/&)i L}"*?;..E-U,J - vil
viit - What is Mass-Energy Equation? e Vebbed At ~viki

4 - Write short answers to any FIVE (5) questions: (2 x 5 = 10) :.-;&}..—.pzﬁéauv (5) ég a.-Jf -4
i - How a submarine floats on the water surface and dives e T a8 W e (3$ oy Al {3!_? 9% S

down into water?
it - What is Hooke's Law? What is meant by elastic limit? ey Ve 2 Enite Vudb¥f -ii
il - Why does the atmospheric pressure vary with height? fe bl s ud AL L gk AL S -

iv - Define latent heat of fusion and latent heat of vaporization? _z-' ._;.;/7 J L';",:,,r; J J’ﬂy’u{.; 2 &’.;,;:; p( Suaf -iv
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v - Define "volume thermal expansion™ and "t P s (s " asl "3 Uk d,;;u"r_éu"
"temperature co-efficient of volume expansion"? i
vi - What is meant by thermal conductivity? e f Ve XU E
vii - Define radiation, Write down the factors at which the rate of A ¥ C/,;' U"j__,g o ;,,I,’_Z{._?/‘."Jdgid%J
emission of radiation depends upon? . 7 Jifl:/(
viii - What is "Greenhouse effect"? - s ",_..,@J;k,_.{/“

Section Il (v =

5- (a) Derive second equation of motion with the help of @) 2 sien$mEele J...iif("L*-é; () -5
speed-time graph.
(b) Abutlet of mass 20 g is fired from a gun with the (5) & U o I SUs Jl}fJu'L l”'/ 20.¢i (v
muzzle velocity 120 ms"1. Find velocity of the "" r--»-”‘ GUs & J:,*_J ney. .3 100 ms 1._.:,

recoil of the gun if its mass is 5kq. - kg5 ¥z

G- (a) Define torque and write its mathematical equation

Explain terque of a couple with the help of a _;" T N u( A T e
double arm spanner,

'

=vi

= vii

)

(e \_,-‘v/_.;‘ =it chv’lzsi&{J/}'J_ﬁL' (W) -6

(b) A giri carries a 10 kg bag upstairs to a height of (5) 2 Ay 18, :‘7,’3__ 11-;'h’10kgu}..f ()
18 steps. each 20 cm high. Calculate the amount of ZJ Sl di F m FE ¢ 20emiyy § r» %
work she has done to carry the bag. (Take g=10 ms_z} (g=10ms~ ,r) ,’* s J._J’; 2
7- (a) Define volume thermal expansion in solids. (4) .= "’/"g e UJJ" (s el o () -7
Derive mathematical relation for volume A L,v ¥ s Szt (olis

thermal expansion.

{b) The head of a pin is a square of side 10 mm. (5) e JJ-’-..‘»_ Ve, 1/-301, ¥ef L (L)

Find the pressure on it due to a force of 20 N. I = osd L20N iy L 4T 10mm
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